
 

 
 

 

 51,78 
€

Monat u. Gebäude
 x ቎ 0,50 + 0,50 x 

  21,79
€
h

 18,64 
€
h

 ቏ =  56,16 
€

Monat u. Gebäude
 

  



 
 

  8,06
Ct

kWh
 x ൤ 0,50 + 0,25 x

190,13

 77,00
+ 0,25 x 

146,86

 82,30
  ൨ =  12,60

Ct

kWh

  9,67
€

m³
 x ൤ 0,50 + 0,25 x

190,13

 77,00
+ 0,25 x 

146,86

 82,30
  ൨ =  15,12

€

m³

  5,11 
€

Monat u. WMZ
 x ቎ 0,50 + 0,50 x 

  21,79
€
h

 18,64 
€
h

 ቏ =  5,54 
€

Monat u. WMZ
 

  2,35 
€

Monat u. WWZ
 x ቎ 0,50 + 0,50 x 

  21,79
€
h

 18,64 
€
h

 ቏ =    2,55 
€

Monat u. WWZ



 

 
 

 

AP ൤
Ct

kWh
൨ = APo x ቈ 0,50 + 0,25 x ቆ

GaP(V)

GaP(V)o
ቇ + 0,25 x ൬

S

So
൰቉

APWW ൤
€

mଷ
൨ = APWWo x ቈ0,50 + 0,25 x ቆ

Gap(V)

Gap(V)o
ቇ +  0,25 x ൬

S

So
൰቉

GP ൤
€

Monat u. Gebäude
൨ = GPo x ൬0,50 + 0,50

L

Lo
൰

MPWMZ =  MPWMZo x ൬0,5 +  0,5 x 
L

Lo
൰

MPWWZ =  MPWWZo x ൬0,5 +  0,5 x 
L

Lo
൰

 



 
 


